SDS tesa 4365 ‘tesay
{tEYESERET—4V—F 644 ~ 4365
1ER B 20164F12H8H
E B 20164F12H8H
1. HRRUEHIHER
LU tesa 4365 %&%J?_j AR AL
& . == - o A REBEXEHEL1—27—6
=t THT-TRARM BB AT — a8
$H L ERPT FOZ ALt E— BEE: 03-6833-2310  FAX: 03-3473-7443
fEO—K: tesa 4365
BERS: MS0644
2. RRUEEILOEH GHSH4E: WBEILSMBIRMYE  : ZSLAL
RE Bt 4L AR SHRREE EALE
EE%EEE%EE : fiw, BEICKT 2EEME : ZELEW
FDhDIER L REICHTH2EEME  ZALGEW
GHSSRILEH CERLELAEL
3. Rk, 1R
EH D IR . )
FIBFICIRERRUY—ZEM
RAXUT DL BRER)IFLY
FhEH D RARTLEBIEDESY. BEXFTE
PRTRIEEILEME  : ZHET
FRENSDSH EME : HZUET
4, [GRMNE
— R IEER BRI REIIHERLR L

REIZHELIZGE
ERBICA-T-15&

: BRIERIBME X0

BERITEEFERAKTHEAFIIC

5. KKBFDULE
S A DK, ZERIERZFR. MFREAF
HRETS>EDORE  HAlICHERN
RETHARMOHIANE . —BILRE. BERRLED
6. RHBDOULE
MR T BFEEE - $HFITHL BRERE ;B DB [E IR
RIBEICHT 2FEFE : HIChHL Z DD IER  AEVERBROBENIE G
7. BYRWRURELDIE
:\ KA
FERIE CHRITAL
"RE
RfftpoxtsE ISR ELZ RANERIEME  HICAGL
BUIGHRESHE  HFICHL

1/2R=



SDS tesa 4365 .tesay

644 — 4365
8. REMLRUGHALE
RfE % CHERIZAL
HEEE CBEETBBEEAL
RER ALEMEBEORYRNIZEL S
IFREDRESE - FE FOREE  RE
BDREE  RE BADREE  FE
9. MEMRULEMMEE
YOIE IR BE - B E & : Bk
55 CIFIFER

MEMRENELT IBEORE/RELER : BEOEAFHTEIEITEN
#BITHNERM 0 BEOEAZHTIEREGN

KIZHT HBME - FF

P L FEhm L EHREE: SL
10. REMRURIGHE

ZEMH  BEOEREHTIERE

yieX - R A A : BRI D fE R RS (AR Ly

BENENE  BAOBELYENDRICE S TERT B EE AN
11. HEMER

aMuEN S L ShEES S L

il L

<KEE>FliEHEL L <HR > HiEtEA L
RAEE : BRRI D BRAEMEAL
Z D1t RYBWARIZE -S> THERAT AL, BBRERVHLAHLB-IERIC

FNEHEELGHEEEALL

12. RERERER
KEFEMEIEAL
13. BELDZEE
BREYMONERVERICET SEZICA>TUEEZLTTSL

14. MELEDIE

FEERICRISTITORY. B ICHE VD TEKRMEE AL
16. ERAES

LY EERREE - BLYET

FEEREH/EE D BEET
EYRIEREEE D BEEY
16. TN DFHR
5| AR IR L
FHREILEHEE . tesa SE, Quality management/environment/ safety, Dr. Lamm
tel:+49-40-4909-2977
X B EL ST : 03-6833-2310 HGTLiEY

EEHNBIRFETCAFTELERICEODVTERINEZEDOTHY . HILLWHMRIZK>THITSNSEE
NHYET, TERBETEEODFAAEZINRE LEZ2HICET2ERIEMETH-T. RERBELOE
BFELITENICEDLGCRZNBERZENETHIDTIEHY THA. ( K2016-11- )
}gf.pim}sz 6-11-
g.p

2/ 2 R—=T



